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UUCAEHHbBIUN PACYET
BAANMUCTUYECKOU
TPAEKTOPUU




SAAAHUE 1

O3HakombTecb ¢ § 3.2.5;

Peann3ynte BbIYUCAUTEAbHbIU 3SKCNEPUMEHT B
3NEeKTPOHHOU Tabauue (ctp. 43-45);



SAAAHUE 2

from math import pi, cos, sin
import matplotlib.pyplot as plt

Pea/\M3yﬁTe # KOHCTaHTbI

ro_shar = 7800

BbIUNCAUTEABHbIN s ooter
Vo = 200

3KcnepMM6HT B al-fao=l39

python . §t==9e.f01

# BblMMCNAEMble NnapameTpbl

ki = 6*pi*mu*r

k2 = 0.2*pi*r**2*ro_sreda

m = 4/3*pi*r**3*ro_shar

# HavanbHble 3Ha4YeHUA MapameTpoB
t=290

vX = v@*cos(alfa*pi/180)

vy = v@*sin(alfa*pi/180)

y = [vy*dt]

x = [vx*dt]

while y[-1] > e:
t += dt

VX, vy = vx-(kl+k2*(vx**2+vy**2)**0.5*%yx)/m*dt, \
vy-((k1+k2* (vx**2+vy**2)**9 5*vy+ m*g)/m*dt)

x.append(x[-1]+vx*dt)
y.append(y[-1]+vy*dt)

print(‘Tmax =", t, 'xmax =", x[-1], y[-1])

fig, ax = plt.subplots()

ax.plot(x, y)

plt.show()



